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Full Marks : 60
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The figures in the margin indicate full marks
for the questions

~ Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

PR e framcaes S forr

(a) Which of the following pairs is not perfectly
matched?

wre fal @z Pete @Wol @R
AT i AR |
(i) Ghost in machine—Gilbert Ryle

T2 fooTs ol 3i2e

(ii} Verification principle—
Logical positivism

TSNl Ne—TFR ASrFam
(iii) Philosophical investigations—Moore

Philosophical investigations—3q
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(b)

(c)

8A/244

(2)

(iv) Objective idealism—Hegel
WY SRAT—CZST

“Language has many functions.” The
philosopher associated with this view is

‘o Rfew e smz 1 xﬂia‘tﬁwaﬁ@
wivw TEee Carg

(i) Russell
=S
(ii) Moore
LA
(iii) early Wittgenstein
URRIRIERZ QST
(iv) later Wittgenstein

FTTOIPIeN TRoCaTEE

( Choose the correct alternative )

(o= et afo Sfaear )

Can a fact be either true or false according
to Russell?

ICER WS @Al O Te) q e 27
#{TCICA 2

( Continued )
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(3)

{d) According to Russell, a proposition is a/an
AT TS CIIAT T+ R 4%
(i) simple symbol
T A
(ii) complex symbol
wioe 2SI

(iii) incomplete symbol

ey oS
( Choose the correct alternative )

(= e A Tferean)

(e) Which one of the following is true?
T (FICOT 8T ?
(i) Moore is an idealist.
T (R QORI SRAM |
(ii) Moore is a common sense philosopher.

TR GOSN NGRS A @
w |

(iii) Moore refutes philosophy of sense data.

T3 Py Tore 1 Wegerw oW T
e PlAczl

{ Turn Over )




4]

(g)

8A/244

(4)

Language, Truth and Logic is the chief
work of

Language, Truth and Logic F@& &=-
SIS 24 I 2

(i) Russe_Il
M=

(ii} G. E. Moore
LA

(iii) Husserl
TR

(iv) Ayer
EIEIE]

( Choose the correct alternative )

(wm Remch Afc Sfear )

The ‘official doctrine’ is the theory that
TR TGN T G GF ©F TS
(i) mind and body are the same thing
(2 F T G2
(ii) mind and body are the separate entities

(7% W1 T Y5l 42T el

( Continued )
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(S5)

(iii) other mind doesn’t exist
T T Y 712

( Choose the correct alternative )

(% et afe Sfiear )

2. Answer briefly the following questions as
directed : . 2x4=8
fctRER were fran ereae o e for

(a) Match the following four pairs correctly :
Yax4=2

wers g @R oI Wt e ¢

(i) Vienna Circle—Picture Theory

forrm vo—fowmet wg 1 afeRzam
(if) Wittgenstein—Schlick
TR
(iii) Esse est percipi—Russell
AOTFS IS R=—Tes

(iv) The problems of philosophy—Berkeley
W TP —

( Turn Qver )




(b)

{c)

(d)

(6)
What is subjective idealism? 2
e S WMo 9

What is family resemblance? 2
R gy 1% 2

What is a fact, according to Russell? 2o b 2

qeFE (S O T 2

3. Answer any three of the following questions :

5%3=15
were iz R e Rt T for
{a) In what sense philosophy is said to be a

therapeutic enterprise? Make a critical note
in brief.

& wefe i ¢ FRTEES 1 BRerT @
IR [ TEw I @R W2 N 4
AT COIel st |

(b) Write a short note on Vienna Circle.

oz vape R «fb v Bree forsi |

{c) What is linguistic philosophy?

8A/244

eIt Wi e & e =2

( Continued )

(d)

(e)

(1)

(7))

Bring out Wittgenstein’s account on
‘Language and Reality’.

TIHFBRAY SR W Te'Y Ree SeReeE |

How did Moore distinguish between ‘blue’
and ‘the consciousness of blue’?

Aqe’ o TR GO’ AT© I (@A
“fi( Ror FRfee 2

Briefly discuss Ryle’s ‘category mistake’
with the help of suitable example.

Ty TrreReR TRIEe IRER ‘effie R
(TR’ TR 5 S SRR |

4. Answer any three of the following questions :

10x3=30

wers fi epspEg & G fofabr Teg foran ¢

(a)

(b}

8A/244

Bring out any five characteristics of Analytic
Philosophy. 2x5=10

Romags W R e simhL . &RE
HISIICERT |

Explain and examine Russell’s philosophy of
logical atomism. 10

MWER ST @M R RoeEe I
9L |

( Turn Qver )




(8)

(c) How did Moore refute Berkeley’s dictum
‘Esse est percipi’? Discuss. 10
T IRPR Caomere e Rwam B
TR 44 FRRe 7 v T4 |

(d) Why does Wittgenstein compare words with
tools? What are the various functions that
we perform with language? Explain after
Wittgenstein. 5+5=10

TR e [ vgRR @S weel
Pz 7 SR FZFS R TAeE F4 e wE-
@ & 2 TIprsRmBiRay worpiR arm 49

(e) Give a critical account of Ryle’s refutation of
Cartesian dualism. 10

e IR Caedm 3% Rawy @< Romgere
R ST

(f) Give an account of Wittgenstein’s notion of
language game. 10

TIGCHEAERAT Ol (4R YR A for o

* ok
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